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LeZandrovi polinomi
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n B, ()
0 1
1 x
2 2 (32% —1)
3 % (5z% — 3x)
4 + (352" — 302? + 3)
5 5 (632° — 702° + 15z)
6 1+ (2312° — 3152* + 10527 - 5)
7 1 (42927 — 6932° + 3152° — 35z)
8 5 (64352% — 1201225 + 69302* — 126027 + 35)
9 o= (121552° — 2574027 + 18018z° — 4620z° + 315z)

10 | 5= (461892'" — 1093952° + 90090z° — 300302" + 3465z — 63)




Cebisevljevi polinomi (prve vrste) [-1,1] p(x) = 1/sqrt(1-x"2)
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Ty (z) = 162° — 202* + 5z

Ts(z) = 322° — 482" + 182 — 1

T:(z) = 642" — 1122° + 562° — Tz

Ty(x) = 1282° — 2562° + 160z — 322* + 1

Ty(z) = 256z" — 57627 + 4322° — 1202° + 9z
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Lagerovi polinomi

[0, +inf)  p(x) = exp(-x)

n Ly (z)
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1 —z+1

2 %(mz — 4z + 2)

3 +(—z* +92° — 182 + 6)

4 5 (&' —162” + 722° — 96z + 24)

5 o5 (—2® + 252" — 2002° + 6002 — 600z + 120)

6 = (2° — 362” + 4502 — 24002® + 54002 — 4320z + 720)
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Hermitovi polinomi (-inf, +inf) p(x) = exp(-x"2)
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H (x)=2x

Hy (x)=4x* -2

H; (x)=8x" = 12x

Hy (x)=16x" - 48 x* + 12

Hs (x)=32x" = 160x° + 120 x

Hg (x) =64 x° - 480 x* + 720 %% = 120

Hy (x)=128x" = 1344 x° + 3360 x" — 1680 x

Hy (x) =256 x" — 3584 x® + 13440 x" - 13440 x” + 1680
Hy (x)=512x" =9216x" + 48384 x° — B0640 x + 30240 x
Hyg (x)=1024x"" = 23040 x* + 161280 x° — 403200 x* + 302400 x* - 30240.



